

Progress Estimate Number 6		Contract ID Prime Contractor	191213-C05 Ideker, Inc.	Pay Period Start Pay Period End	June 2, 2020 June 15, 2020	Original Contract Amount Net Change Order Amount Current Contract Amount	\$4,256,129.82 \$28,758.15 \$4,284,887.97	
Approval Date							By User	
June 16, 2020		Generated and Approved (and should be considered Draft) at the Project Office Level by						
June 16, 2020		Revie	wed and Approv	ved (and should be c	onsidered Draft) a	at the Resident Engineer Level by	karlic1	
June 17, 2020	Reviewed and Approved at the Central Office Controllers Office Level by						greggd1	
Original Comp	letion Date	Current Completi	on Date	Actual Completi	on Date	% of Current Contract Amou	nt Complete	
November ?	ber 1, 2020 November 1, 2020 70.90%							

No Milestones Exist for Contract

Contract Total Pa	y For Estimate No. 6			
		This Estimate	Previous	To Date
191213-C05				
	Total Posted Items Pay	\$482,143.49	\$2,555,671.96	\$3,037,815.45
	Gross Item Adjustments	(\$92,103.55)	\$77,139.79	(\$14,963.76)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	-		\$2,632,811.75	\$3,022,851.69
Contract Total Page	yable This Estimate:	\$390,039.94		

Items Paid This Estimate Period

Project Number	Line Number	ltem Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J4P3215	0040	2153000	SHAPING SLOPES, CLASS III	100F	\$850.000	3.2	\$2,720.00
	0090	4019901	MISC.INFRARED SCANNING	LS	\$1,000.000	1	\$1,000.00
	0100	4019901	MISC.INTELLIGENT COMPACTION	LS	\$5,000.000	1	\$5,000.00
	0160	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$1,000.000	2	\$2,000.00
	0240	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	TONS	\$415.940	63.3	\$26,329.00
	0260	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	TONS	\$258.800	42.8	\$11,076.64
	0280	6139905	MISC.REMOVE, FURNISH AND PLACE MATERIAL FOR FULL DEPTH BIT SHOULDER REPAIR	SQYD	\$272.520	97.8	\$26,652.46
	0360	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	EA	\$5,000.000	2	\$10,000.00
	0370	6181000	MOBILIZATION	LS	\$314,363.520	0.75	\$235,772.64
	0380	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	LF	\$3.000	2,010	\$6,030.0
	0390	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$19.000	230	\$4,370.00
	0400	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	EA	\$195.000	22	\$4,290.00
	0420	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	EA	\$100.000	8	\$800.00
	0430	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.140	7,325	\$1,025.50
	0440	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.190	127,863	\$24,293.9
	0450	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.190	101,383	\$19,262.7
	0480	6207001	PAVEMENT MARKING REMOVAL	LF	\$1.000	480	\$480.0
	0520	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	STA	\$17.650	1,056.7	\$18,650.7
	0580	6061060	MGS GUARDRAIL	LF	\$17.300	587.5	\$10,163.7
	0590	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	LF	\$21.000	1,062.5	\$22,312.5
	0610	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	EA	\$2,450.000	4	\$9,800.0
	0620	6061080	MGS END ANCHOR	EA	\$800.000	4	\$3,200.0



Progress Estimate Number 6			er	Contract ID191213-C05Pay Period StartJune 2, 2020Prime ContractorIdeker, Inc.Pay Period EndJune 15, 2020				Net C	hal Contract Am hange Order An nt Contract Am	\$4,256,129.82 \$28,758.15 \$4,284,887.97	
Project Number	Line Number	ltem Code			Item Descr	iption		Unit	Unit Price	Current Installed Qty	Current Installed Amount
J4P3215	0630	6063014	TYPE	YPE A CRASHWORTHY END TERMINAL (MASH)					\$2,400.000	8	\$19,200.00
	5001	6200018	PREF	REFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW				LF	\$25.200	360	\$9,072.00
	5003	6207001	PAVE	AVEMENT MARKING REMOVAL					\$5.250	1,558	\$8,179.50
	5004	6207002	PAVE	EMENT MARKING RE	EMOVAL (SYME	BOLS)		EA	\$57.750	8	\$462.00
Project J4	4P3215 - 1	Fotal									\$482,143.49
Overall -	Total										\$482,143.49

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
4P3215	0070	MISC.	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-537	\$70.78	(\$38,008.86
	0070	MISC.	Material			-1,101	\$70.78	(\$77,928.78
	0070	MISC.	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0004) overridding Payment Estimate Exception 45 on the current Payment Estimate.	537	\$70.78	\$38,008.86
	0070	MISC.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0005) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	1,101	\$70.78	\$77,928.78
	0110	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Material			-17,593.2	\$61.70	(\$1,085,500.44)
	0110	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	17,593.2	\$61.70	\$1,085,500.44
	0120	TACK COAT	Material			-8,204	\$2.50	(\$20,510.00
	0120	TACK COAT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	8,204	\$2.50	\$20,510.00
	0140	PAVED APPROACH, 8 IN.	Material			-68	\$147.75	(\$10,047.00
	0140	PAVED APPROACH, 8 IN.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0007) due to user woodwj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.	68	\$147.75	\$10,047.00
	0150	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	Material			-30	\$55.60	(\$1,668.00)
	0150	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0008) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate.	30	\$55.60	\$1,668.00
	0160	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material			-2	\$1,000.00	(\$2,000.00)



Pro	gress E	Estimate Number 6	Contrac Prime C		191213-C05 deker, Inc.	Pay Period End June 15, 2020 N	Driginal Contract let Change Orde Current Contract	r Amount	\$4,256,129.82 \$28,758.15 \$4,284,887.97
Project Number	Line No.	Item Descript	lion	Adjustment Type	Other Item Adjustment Type	Comments	Adjustm Quanti		Adjustment t amount
J4P3215	0160	TRUCK OR MOUNTED ATTE		Material		This adjustment offsets the original s generated Overrun Payment Estima Adjustment (0009) due to user w overridding Payment Estimate Excep on the current Payment Es	ite Item oodwj1 otion 16	2 \$1,000.00	\$2,000.00
	0170	FURNISHING AND CONCRETE MATE FULL DEPTH PA	RIAL FOR	Overrun		Averaged Price Adjustment from this i all previous payment estimates of '0.00 applied (if nor	0000' is	9.8 \$218.62	2 (\$8,701.08
	0170	FURNISHING AND CONCRETE MATE FULL DEPTH PA	RIAL FOR	Material			-1,10	4.8 \$218.62	2 (\$241,531.38
	0170	FURNISHING AND CONCRETE MATER FULL DEPTH PA	RIAL FOR	Overrun		This adjustment offsets the original s generated Overrun Payment Estima Adjustment (0010) overridding Pa Estimate Exception 46 on the current Pa Es	ite Item ayment	9.8 \$218.62	2 \$8,701.08
	0170	FURNISHING AND CONCRETE MATE FULL DEPTH PA	RIAL FOR	Material		This adjustment offsets the original s generated Overrun Payment Estima Adjustment (0011) due to user w overridding Payment Estimate Excep on the current Payment Es	odwj1 tion 17	4.8 \$218.62	2 \$241,531.38
	0210	DOWEL BAR (E FURNISH INSTALLATION) F DEPTH PAVEMEN	HING AND OR FULL	Material			-7	79 \$5.45	5 (\$4,245.55
	0210	DOWEL BAR (E FURNISH INSTALLATION) F DEPTH PAVEMEN	HING AND OR FULL	Material		This adjustment offsets the original s generated Overrun Payment Estima Adjustment (0012) due to user w overridding Payment Estimate Excep on the current Payment Es	odwj1 otion 20	79 \$5.45	\$4,245.55
	0220	DOWEL BAR (FUF AND INSTALLAT BASKETS) F DEPTH PAVEMEN	ION WITH	Overrun		Averaged Price Adjustment from this i all previous payment estimates of '0.00 applied (if nor	0000' is	39 \$9.75	6 (\$380.25
	0220	DOWEL BAR (FUF AND INSTALLAT BASKETS) F DEPTH PAVEMEN	ION WITH	Material			-3	29 \$9.75	6 (\$3,207.75
	0220	DOWEL BAR (FUF AND INSTALLAT BASKETS) F DEPTH PAVEMEN	ION WITH	Overrun		This adjustment offsets the original s generated Overrun Payment Estima Adjustment (0013) overridding Pa Estimate Exception 47 on the current Pa Es	ite Item ayment	39 \$9.75	\$380.25
	0220	DOWEL BAR (FUF AND INSTALLAT BASKETS) F DEPTH PAVEMEN	ION WITH	Material		This adjustment offsets the original s generated Overrun Payment Estima Adjustment (0014) due to user w overridding Payment Estimate Excep on the current Payment Est	odwj1 otion 22	29 \$9.75	\$3,207.75
	0230	INSTALLATION) F	ING AND OR FULL	Overrun		Averaged Price Adjustment from this i all previous payment estimates of '0.00 applied (if nor	0000' is	12 \$3.75	6 (\$795.00
	0230	INSTALLATION) F	ING AND OR FULL	Material			-3	96 \$3.75	6 (\$1,485.00
	0230	TIE BAR (E FURNISH INSTALLATION) F	ING AND	Overrun		This adjustment offsets the original s generated Overrun Payment Estima Adjustment (0015) overridding Pa	ite Item	\$3.75	\$795.00



Pro	gress E		Contrac Prime C		191213-C05 deker, Inc.	Pay Period End June 15, 2020 Net Ch	Il Contract Am ange Order Ar t Contract Am	nount \$2	4,256,129.82 28,758.15 4,284,887.97
Project Number	Line No.	Item Description	ו	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4P3215		DEPTH PAVEMENT F (TYPE L J				Estimate Exception 48 on the current Paymer Estimate			
	0230	TIE BAR (DRI FURNISHIN INSTALLATION) FOI DEPTH PAVEMENT F (TYPE L J	IG AND R FULL REPAIR	Material		This adjustment offsets the original system generated Overrun Payment Estimate Iter Adjustment (0016) due to user woodwj overridding Payment Estimate Exception 2 on the current Payment Estimate	n 1 5	\$3.75	\$1,485.00
	0290	CONSTRUCTION	SIGNS	Material			-936.93	\$5.50	(\$5,153.12
	0290	CONSTRUCTION	SIGNS	Material		This adjustment offsets the original system generated Overrun Payment Estimate Iter Adjustment (0017) due to user woodwj overridding Payment Estimate Exception 2 on the current Payment Estimate	n 1 3	\$5.50	\$5,153.12
	0310	FLAG ASS	EMBLY	Material			-14	\$20.00	(\$280.00
	0310	FLAG ASS	EMBLY	Material		This adjustment offsets the original system generated Overrun Payment Estimate Iter Adjustment (0018) due to user woodwj overridding Payment Estimate Exception 2 on the current Payment Estimate	ר 1 פ	\$20.00	\$280.00
	0320	CHANNELIZER (TRIN	M LINE)	Material			-350	\$16.00	(\$5,600.00
	0320	CHANNELIZER (TRIM LINE)		Material		This adjustment offsets the original system generated Overrun Payment Estimate Iter Adjustment (0019) due to user woodwj overridding Payment Estimate Exception 3 on the current Payment Estimate	ו 1)	\$16.00	\$5,600.00
	0330	TYPE III MOV BARF	EABLE RICADE	Material			-4	\$150.00	(\$600.00
	0330	TYPE III MOV BARF	(EABLE RICADE	Material		This adjustment offsets the original system generated Overrun Payment Estimate Iter Adjustment (0020) due to user woodwj overridding Payment Estimate Exception 3 on the current Payment Estimate	ר 1 1	\$150.00	\$600.00
	0340	FLASHING ARROW	PANEL	Material			-2	\$1,000.00	(\$2,000.00
	0340	FLASHING ARROW	PANEL	Material		This adjustment offsets the original system generated Overrun Payment Estimate Iter Adjustment (0021) due to user woodwj overridding Payment Estimate Exception 3 on the current Payment Estimate	1 1 2	\$1,000.00	\$2,000.00
	0360	COMMUNIC INTERFACE, CONTRA FURNISHED, CONTRA	N WITH CATION ACTOR	Material			-4	\$5,000.00	(\$20,000.00)
(0360	COMMUNIC INTERFACE, CONTRA FURNISHED, CONTRA	N WITH CATION ACTOR	Material		This adjustment offsets the original system generated Overrun Payment Estimate Iter Adjustment (0022) due to user woodwj overridding Payment Estimate Exception 3 on the current Payment Estimate	1 1 3	\$5,000.00	\$20,000.00
	0380	THERMOPI PAVEMENT MARKING		Overrun			-308	\$3.00	(\$924.00
	0380	THERMOPI PAVEMENT MARKING		Material			-2,010	\$3.00	(\$6,030.00
	0380	PREFC THERMOPI PAVEMENT MARKING		Overrun		This adjustment offsets the original system generated Overrun Payment Estimate Iter Adjustment (0023) overridding Paymer	1	\$3.00	\$924.00



Pro	gress E	Estimate Number 6	Contrac Prime C		191213-C05 Ideker, Inc.	Pay Period StartJune 2, 2Pay Period EndJune 15,	2020 Net Cha	Contract Am nge Order Ar Contract Am	nount \$2	4,256,129.82 28,758.15 4,284,887.97
Project Number	Line No.	Item Descript	ion	Adjustment Type	Other Item Adjustment Type	Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J4P3215			WHITE			Estimate Exception 50 on the	current Payment Estimate.			
	0380		FORMED PLASTIC NG, 6 IN. WHITE	Material		This adjustment offsets the generated Overrun Payme Adjustment (0024) due overridding Payment Estima on the current Pa	nt Estimate Item to user woodwj1 ate Exception 34	2,010	\$3.00	\$6,030.00
	0380		FORMED PLASTIC NG, 6 IN. WHITE	Overrun	Overrun	Item overrun will be add	lressed in a later Change Order			(\$924.00
	0390	THERMC PAVEMENT MAR	FORMED PLASTIC RKING, 24 N. WHITE	Material				-230	\$19.00	(\$4,370.00
	0390	THERMC PAVEMENT MAR	FORMED PLASTIC RKING, 24 N. WHITE	Material		This adjustment offsets the generated Overrun Payme Adjustment (0025) due overridding Payment Estima on the current Pa	nt Estimate Item to user woodwj1 ate Exception 35	230	\$19.00	\$4,370.00
	0400		,	Material				-22	\$195.00	(\$4,290.00
	0400	THERMOPLASTIC PAVEMENT MARKING LEFT/RIGHT ARROW		Material		This adjustment offsets the generated Overrun Payme Adjustment (0026) due overridding Payment Estima on the current Pa	nt Estimate Item to user woodwj1 ate Exception 37	22	\$195.00	\$4,290.00
	0420			Material				-8	\$100.00	(\$800.00
	0420			Material		This adjustment offsets the generated Overrun Payme Adjustment (0027) due overridding Payment Estima on the current Pa	nt Estimate Item to user woodwj1 ate Exception 38	8	\$100.00	\$800.00
	0430	4 IN. YELLOW HIC WATERBORNE PA MARKING PAIN	VEMENT	Overrun				-6,412	\$0.14	(\$897.68
	0430	4 IN. YELLOW HIC WATERBORNE PA MARKING PAIN	VEMENT	Material				-20,462	\$0.14	(\$2,864.68
	0430	4 IN. YELLOW HIC WATERBORNE PA MARKING PAIN	VEMENT	Overrun		This adjustment offsets the generated Overrun Payme Adjustment (0028) over Estimate Exception 51 on the	nt Estimate Item ridding Payment	6,412	\$0.14	\$897.68
	0430	4 IN. YELLOW HIC WATERBORNE PA MARKING PAIN	VEMENT	Material		This adjustment offsets the generated Overrun Payme Adjustment (0029) due overridding Payment Estima on the current Pa	nt Estimate Item to user woodwj1 ate Exception 39	20,462	\$0.14	\$2,864.68
	0430	4 IN. YELLOW HIC WATERBORNE PA MARKING PAIN	VEMENT	Overrun	Overrun	Item overrun will be add	lressed in a later Change Order			(\$897.68
	0440	6 IN. WHITE HIC WATERBORNE PA		Material				-144,425	\$0.19	(\$27,440.75



Project Number Line No. J4P3215 J4P3215 0440 0450 0450 0450 0450 0450 0450 0450 0450 0450 0450 0450 0450 0450 0450 0580 0590 0590	WATERBORNE P MARKING PAIN 6 IN. YELLOW HI WATERBORNE P MARKING PAIN 6 IN. YELLOW HI WATERBORNE P MARKING PAIN PAVEMENT MARKING PAIN	IT, TYPE L BEADS IGH BUILD AVEMENT IT, TYPE L BEADS IGH BUILD AVEMENT IT, TYPE L BEADS IGH BUILD AVEMENT IT, TYPE L BEADS MARKING REMOVAL	Adjustment Type Material Material Material Overrun	Other Item Adjustment Type	Comments This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0030) due to user woodwj1 overridding Payment Estimate Exception 41 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0031) due to user woodwj1 overridding Payment Estimate Exception 43 on the current Payment Estimate.	Adjustment Quantity 144,425 -101,383 101,383	Line Item Adjustment Unit Price	Adjustment amount \$27,440.75 (\$19,262.77 \$19,262.77 (\$2.00
0440 0450 0450 0480 0580 0590	6 IN. WHITE HI WATERBORNE P MARKING PAIN 6 IN. YELLOW HI WATERBORNE P MARKING PAIN 6 IN. YELLOW HI WATERBORNE P MARKING PAIN PAVEMENT	BEADS GH BUILD AVEMENT IT, TYPE L BEADS GH BUILD AVEMENT IT, TYPE L BEADS GH BUILD AVEMENT IT, TYPE L BEADS MARKING REMOVAL	Material Material Overrun Construction		generated Overrun Payment Estimate Item Adjustment (0030) due to user woodwj1 overridding Payment Estimate Exception 41 on the current Payment Estimate. This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0031) due to user woodwj1 overridding Payment Estimate Exception 43	-101,383	\$0.19 \$0.19	(\$19,262.77 \$19,262.77
0450 0450 0480 0580 0590	WATERBORNE P MARKING PAIN 6 IN. YELLOW HI WATERBORNE P MARKING PAIN 6 IN. YELLOW HI WATERBORNE P MARKING PAIN PAVEMENT MARKING PAIN	AVEMENT IT, TYPE L BEADS GH BUILD AVEMENT IT, TYPE L BEADS GH BUILD AVEMENT IT, TYPE L BEADS MARKING REMOVAL	Material Material Overrun Construction		generated Overrun Payment Estimate Item Adjustment (0030) due to user woodwj1 overridding Payment Estimate Exception 41 on the current Payment Estimate. This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0031) due to user woodwj1 overridding Payment Estimate Exception 43	-101,383	\$0.19 \$0.19	(\$19,262.77 \$19,262.77
0450 0480 0580 0590 0590	WATERBORNE P. MARKING PAIN 6 IN. YELLOW HI WATERBORNE P. MARKING PAIN PAVEMENT MGS GU	AVEMENT IT, TYPE L BEADS IGH BUILD AVEMENT IT, TYPE L BEADS MARKING REMOVAL	Material Overrun Construction		generated Overrun Payment Estimate Item Adjustment (0031) due to user woodwj1 overridding Payment Estimate Exception 43	101,383	\$0.19	\$19,262.77
0480 0580 0580 0590	WATERBORNE P. MARKING PAIN PAVEMENT MGS GU	AVEMENT IT, TYPE L BEADS MARKING REMOVAL	Overrun Construction		generated Overrun Payment Estimate Item Adjustment (0031) due to user woodwj1 overridding Payment Estimate Exception 43			
0580 0580 0590 0590	MGS GI	REMOVAL	Construction			-2	\$1.00	(\$2.00)
0580 0590 0590		JARDRAIL						
0590			Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$5,980.29
0590	MGS GI	JARDRAIL	Material			-862.5	\$17.30	(\$14,921.25
	MGS GUARDF POSTS, 6	RAIL, 8 FT. FT 3 IN. SPACING	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$12,864.58
0610	MGS GUARDF POSTS, 6	RAIL, 8 FT. FT 3 IN. SPACING	Material			-1,062.5	\$21.00	(\$22,312.50
0010	MGS BRIDGE AI TRANSITION (EXTEND		Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$6,120.00
0620	MGS END	ANCHOR	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$1,988.00
0620	MGS END	ANCHOR	Material			-4	\$800.00	(\$3,200.00
0630	TYPE A CRASH END TERMINA		Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$12,136.00
5001	THERM PAVEMENT MA	EFORMED OPLASTIC RKING, 24 . YELLOW	Material			-360	\$25.20	(\$9,072.00
5003	PAVEMENT	MARKING REMOVAL	Overrun			-321	\$5.25	(\$1,685.25



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	1
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J4P3215	FAF 169-1(108)	Coldmill and resurface	169	CLAY	from Commercial Ave. to	Barry Road	
Totals by .	Job Numbers	3					
J4P3215		Item Pay	nto		This Estimate \$482,143.49 (\$92,103.55)	Previous \$2,555,671.96 \$77.139.79	To Date \$3,037,815.45 (\$14,963.76)
	Gross Item Adjustments Gross Item Pay			Item Pay	\$390,039.94	\$2,632,811.75	\$3,022,851.69
	Incentiv				\$0.00	\$0.00	\$0.00
	Disince	ntive ted Damages			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00
		ontract Adjus	tments		\$0.00	\$0.00	\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Evaloration	-	
	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 3049910, Project Item Line Number 0070, Material Set 304991096, Material 1007T1ABLD.:T5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLD.:T5 is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 4030003, Project Item Line Number 0110, Material Set 403000396, Material 0403SP095CLG - Superpave 9.5 mm, Des C 80 Gyrc Acceptance Action Generic AspHigh is insufficient.	Material testing results will be added at a later date s,	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 4071005, Project Item Line Number 0120, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6061060, Project Item Line Number 0580, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	No Remark was entered by Engineer	woodwj1	Unresolved
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6061061, Project Item Line Number 0590, Material Set 606106196, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	No Remark was entered by Engineer	woodwj1	Unresolved
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6061080, Project Item Line Number 0620, Material Set 606108096, Material 1040GRBEESCAT1 - Breakaway End Anchor End Set CI A Typ 1, Acceptance Action Generic 1040GRBEESCAT1 is insufficient.	No Remark was entered by Engineer ct	woodwj1	Unresolved
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6085008, Project Item Line Number 0140, Material Set 608500896, Material 1057JMFRPF - Preformed Fiber Expansion Joint Material, Acceptance Action Generic 1057JMFRPF is insufficient.	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6085008, Project Item Line Number 0140, Material Set 608500896, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6085008, Project Item Line Number 0140, Material Set 608500896, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6085008, Project Item Line Number 0140, Material Set 608500896, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6085008, Project Item Line Number 0140, Material Set 608500896, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6085008, Project Item Line Number 0140, Material Set 608500896, Material 1057JMTBE28016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 40/M280@, Acceptance Action Generic ReinforcingMisc is insufficient.	Material testing results and Pal Form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6091010, Project Item Line Number 0150, Material Set 609101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6091010, Project Item Line Number 0150, Material Set 609101096, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	Material testing results will be added at a later date e	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6091010, Project Item Line Number 0150, Material Set 609101096, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6123000A, Project Item Line Number 0160, Material Set 6123000A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6131010, Project Item Line Number 0170, Material Set 613101096, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6131010, Project Item Line Number 0170, Material Set 613101096, Material 1005GDCMLD - Masonry Grade D LS/DO, Acceptance Action Generic 1005GDCMLD is insufficient.	Material testing results will be added at a later date e	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6131010, Project Item Line Number 0170, Material Set 613101096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material testing results will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6131015, Project Item Line Number 0210, Material Set 613101596, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Material certification and PAL form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6131015, Project Item Line Number 0210, Material Set 613101596, Material 1057JMDBEC6.10 - Dowel Bar Epoxy Ctd Gr60 1" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Material certification and PAL form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6131017, Project Item Line Number 0220, Material Set 613101796, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Material certification and PAL form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6131017, Project Item Line Number 0220, Material Set 613101796, Material 1057JMDAEC6.11 - Dowel Assemblies Epoxy Ctd Gr60 1 1/4" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Material certification and PAL form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6131017, Project Item Line Number 0220, Material Set 613101796, Material 1057JMDBEC6.11 - Dowel Bar Epoxy Ctd Gr60 1 1/4	Material certification and PAL form will be added at a later date	woodwj1	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Penod			
Exceptions / Discrepencies	Explanation	Entered By	Status
@, Acceptance Action Generic ReinforcingMisc is insufficient.			
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6131018, Project Item Line Number 0230, Material Set 613101896, Material 1039ERDBEP - Epoxy Bonding Agent for Dowels, Acceptance Action Generic 1039ERDBEP is insufficient.	Material certification and PAL form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6131018, Project Item Line Number 0230, Material Set 613101896, Material 1057JMTBE42016 - Tie Bar Ep Ctd 30" No. 5/M16 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Material certification and PAL form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6131018, Project Item Line Number 0230, Material Set 613101896, Material 1057JMTBE42019 - Tie Bar Ep Ctd 40" No. 6/M19 Gr 60/M420@, Acceptance Action Generic ReinforcingMisc is insufficient.	Material certification and PAL form will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6161005, Project Item Line Number 0290, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6161009, Project Item Line Number 0310, Material Set 616100996, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6161025, Project Item Line Number 0320, Material Set 616102596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6161030, Project Item Line Number 0330, Material Set 616103096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6161040, Project Item Line Number 0340, Material Set 616104096, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6161099, Project Item Line Number 0360, Material Set 616109996, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6200009, Project Item Line Number 0380, Material Set 620000996, Material 1048PMT - Marking Tape, Acceptance Action Generic 1048PMT is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6200015, Project Item Line Number 0390, Material Set 620001596, Material 1048PMT - Marking Tape, Acceptance Action Generic 1048PMT is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6200018, Project Item Line Number 5001, Material Set 620001896, Material 1048PMPFYL - Performed Thermoplastic Marking Tape YL, Acceptance Action Generic 1048PMPFYL is insufficient.	No Remark was entered by Engineer	woodwj1	Unresolved
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6200021, Project Item Line Number 0400, Material Set 620002196, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6200036, Project Item Line Number 0420, Material Set 620003696, Material 1048PMPFWHXX - Pref Mrk Tape Direct Indcat or Shape WH, Acceptance Action Generic 1048PMPFWHXX is insufficient.	Material certification will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6205901A, Project Item Line Number 0430, Material Set 6205901A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Material certification and Pavement Marking test will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6205901A, Project Item Line Number 0430, Material Set 6205901A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Material certification and Pavement Marking test will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6205902A, Project Item Line Number 0440, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Material certification and Pavement Marking test will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6205902A, Project Item Line Number 0440, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Material certification and Pavement Marking test will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6205903A, Project Item Line Number 0450, Material Set 6205903A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Material certification and Pavement Marking test will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J4P3215, Item 6205903A, Project Item Line Number 0450, Material Set 6205903A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Material certification and Pavement Marking test will be added at a later date	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-C05, Contract Project J4P3215, Project Item Line Number 0070, Contract Line Item Number 0070, Item 3049910, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-C05, Contract Project J4P3215, Project Item Line Number 0170, Contract Line Item Number 0170, Item 6131010, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-C05, Contract Project J4P3215, Project Item Line Number 0220, Contract Line Item Number 0220, Item 6131017, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-C05, Contract Project J4P3215, Project Item Line Number 0230, Contract Line Item Number 0230, Item 6131018, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-C05, Contract Project J4P3215, Project Item	Item overrun will be addressed in a later Change Order	woodwj1	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Line Number 0250, Contract Line Item Number 0250, Item 6133019, Minor Item.			
Estimate Exception Type: Item Overrun: Contract 191213-C05, Contract Project J4P3215, Project Item Line Number 0380, Contract Line Item Number 0380, Item 6200009, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-C05, Contract Project J4P3215, Project Item Line Number 0430, Contract Line Item Number 0430, Item 6205901A, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-C05, Contract Project J4P3215, Project Item Line Number 0480, Contract Line Item Number 0480, Item 6207001, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 191213-C05, Contract Project J4P3215, Project Item Line Number 0510, Contract Line Item Number 0510, Item 6224010, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Overridden
Estimate Exception Type: Item Overrun: Contract 191213-C05, Contract Project J4P3215, Project Item Line Number 5003, Contract Line Item Number 5003, Item 6207001, Minor Item.	Item overrun will be addressed in a later Change Order	woodwj1	Acknowledged



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities				eport Generated date and can differ from the posted amo	ount at the f	time the E	stimate was	Genera	ated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-C05	J4P3215	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$32,855.00	\$0.00
		0001	0020	2071000	LINEAR GRADING CLASS 1	0.70	0.00	0.70	STA	0.25	\$4,235.00	\$1,058.75
		0001	0030	2072000	LINEAR GRADING CLASS 2	6.80	0.00	6.80	STA	6.80	\$1,255.00	\$8,534.00
		0001	0040	2153000	SHAPING SLOPES, CLASS III	38.00	0.00	38.00	100F	4.00	\$850.00	\$3,400.00
		0001	0050	3040133	TYPE 1 AGGREGATE FOR BASE (3 IN. THICK)	55.00	0.00	55.00	SQYD	0.00	\$42.00	\$0.00
		0001	0060	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	119.00	0.00	119.00	SQYD	0.00	\$30.00	\$0.00
		0001	0070	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	564.00	0.00	564.00	TONS	1,101.00	\$70.78	\$77,928.78
		0001	0080	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	12,800.00	0.00	12,800.00	TONS	6,109.20	\$63.83	\$389,950.24
		0001	0090	4019901	MISC.INFRARED SCANNING	1.00	0.00	1.00	LS	1.00	\$1,000.00	\$1,000.00
		0001	0100	4019901	MISC.INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000.00
		0001	0110	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	20,325.00	0.00	20,325.00	TONS	17,593.20	\$61.70	\$1,085,500.44
		0001	0120	4071005	TACK COAT	21,117.00	0.00	21,117.00	GAL	8,204.00	\$2.50	\$20,510.00
		0001	0130	4079912	MISC.MODIFIED BONDED ASPHALTIC CONCRETE PAVEMENT	40,398.00	0.00	40,398.00	GAL	36,220.00	\$2.50	\$90,550.00
		0001	0140	6085008	PAVED APPROACH, 8 IN.	119.00	0.00	119.00	SQYD	68.00	\$147.75	\$10,047.00
		0001	0150	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	64.00	0.00	64.00	LF	30.00	\$55.60	\$1,668.00
		0001	0160	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$1,000.00	\$2,000.00
		0001	0170	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	1,065.00	0.00	1,065.00	SQYD	1,104.80	\$218.62	\$241,531.38
		0001	0180	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	117.00	0.00	117.00	SQYD	0.00	\$1.20	\$0.00
		0001	0190	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	117.00	0.00	117.00	SQYD	0.00	\$1.20	\$0.00
		0001	0200	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	3,785.00	0.00	3,785.00	LF	3,470.00	\$3.00	\$10,410.00
		0001	0210	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	1,140.00	0.00	1,140.00	EA	779.00	\$5.45	\$4,245.55
		0001	0220	6131017	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	290.00	0.00	290.00	EA	329.00	\$9.75	\$3,207.75
		0001	0230	6131018	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	184.00	0.00	184.00	EA	396.00	\$3.75	\$1,485.00
		0001	0240	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	63.90	0.00	63.90	TONS	63.30	\$415.94	\$26,329.00
		0001	0250	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	283.40	0.00	283.40	SQYD	386.60	\$135.57	\$52,411.36
		0001	0260	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	45.80	0.00	45.80	TONS	42.80	\$258.80	\$11,076.64
		0001	0270	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	203.80	0.00	203.80	SQYD	154.70	\$126.50	\$19,569.55
		0001	0280	6139905	MISC.REMOVE, FURNISH AND PLACE MATERIAL FOR FULL DEPTH BIT SHOULDER REPAIR	100.00	0.00	100.00	SQYD	97.80	\$272.52	\$26,652.46
		0001	0290	6161005	CONSTRUCTION SIGNS	1,364.00	0.00	1,364.00	SQFT	936.93	\$5.50	\$5,153.12
		0001	0300	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$75.00	\$0.00
		0001	0310	6161009	FLAG ASSEMBLY	14.00	0.00	14.00	EA	14.00	\$20.00	\$280.00
		0001	0320	6161025	CHANNELIZER (TRIM LINE)	350.00	0.00	350.00	EA	350.00	\$16.00	\$5,600.00
		0001	0330	6161030	TYPE III MOVEABLE BARRICADE	6.00	0.00	6.00	EA	4.00	\$150.00	\$600.00
		0001	0340	6161040	FLASHING ARROW PANEL	3.00	0.00	3.00	EA	2.00	\$1,000.00	\$2,000.00
		0001	0350	6161055	SEQUENTIAL FLASHING WARNING LIGHT	36.00	0.00	36.00	EA	0.00	\$72.00	\$0.00
		0001	0360	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$5,000.00	\$20,000.00
		0001	0370	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$314,363.52	\$314,363.52
		0001	0380	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	1,702.00	0.00	1,702.00	LF	2,010.00	\$3.00	\$6,030.00
		0001	0390	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	370.00	360.00	730.00	LF	230.00	\$19.00	\$4,370.00
		0001	0400	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	37.00	2.00	39.00	EA	22.00	\$195.00	\$4,290.00
		0001	0410	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW		0.00	3.00	EA	0.00	\$175.00	\$0.00
		0001	0420	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	32.00	0.00	32.00	EA	8.00	\$100.00	\$800.00
		0001	0430	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	14,050.00	0.00	14,050.00	LF	20,462.00	\$0.14	\$2,864.68



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
91213-C05	J4P3215	0001	0440	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	165,892.00	0.00	165,892.00	LF	144,425.00	\$0.19	\$27,440.75
		0001	0450	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	120,197.00	0.00	120,197.00	LF	101,383.00	\$0.19	\$19,262.77
		0001	0460	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	23,927.00	0.00	23,927.00	LF	0.00	\$0.48	\$0.00
		0001	0470	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	360.00	-360.00	0.00	LF	0.00	\$3.00	\$0.00
		0001	0480	6207001	PAVEMENT MARKING REMOVAL	478.00	0.00	478.00	LF	480.00	\$1.00	\$480.00
		0001	0490	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$1.00	\$0.00
		0001	0500	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	418,596.00	0.00	418,596.00	SQYD	279,646.10	\$1.24	\$346,761.16
		0001	0510	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,300.00	0.00	1,300.00	SQYD	5,156.20	\$14.12	\$72,805.54
		0001	0520	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,235.20	0.00	1,235.20	STA	1,056.70	\$17.65	\$18,650.70
		0001	0530	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$15,000.00	\$0.0
		0001	0540	8051000A	SEEDING - COOL SEASON MIXTURES	0.10	0.00	0.10	ACRE	0.00	\$22,000.00	\$0.0
		0001	0550	8061007A	CURB INLET CHECK	4.00	0.00	4.00	EA	0.00	\$125.00	\$0.0
		0001	0560	8061016	SEDIMENT REMOVAL	10.00	0.00	10.00	CUYD	0.00	\$35.00	\$0.0
		0001	0570	8061019	SILT FENCE	544.00	0.00	544.00	LF	0.00	\$3.00	\$0.0
		0010	0580	6061060	MGS GUARDRAIL	5,922.00	115.50	6,037.50	LF	862.50	\$17.30	\$14,921.2
		0010	0590	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	6,323.00	152.00	6,475.00	LF	1,062.50	\$21.00	\$22,312.5
		0010	0600	6061063	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	451.00	36.50	487.50	LF	0.00	\$27.00	\$0.0
		0010	0610	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	30.00	0.00	30.00	EA	5.00	\$2,450.00	\$12,250.0
		0010	0620	6061080	MGS END ANCHOR	36.00	0.00	36.00	EA	4.00	\$800.00	\$3,200.0
		0010	0630	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	50.00	0.00	50.00	EA	9.00	\$2,400.00	\$21,600.0
		0001	5001	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	0.00	360.00	360.00	LF	360.00	\$25.20	\$9,072.0
		0001	5003	6207001	PAVEMENT MARKING REMOVAL	0.00	1,237.00	1,237.00	LF	1,558.00	\$5.25	\$8,179.5
		0001	5004	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	0.00	15.00	15.00	EA	8.00	\$57.75	\$462.0
	Project J	4P3215 - To	tal Value	Posted to D	ate as of Report Generated Date							\$3,037,815.4
1213-C05 Ov	erall - Total	Value Post	ted to Dat	te as of Rend	ort Generated Date							\$3,037,815.4



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J4P3215

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0040	2153000	SHAPING SLOPES, CLASS III	6/2/20	6/15/20	0.80	100F	Run 8	11.496		111.537		
			6/4/20	6/15/20	1.60	100F	Run 12 and 13	112.498		114.774		
			6/8/20	6/15/20	0.80	100F	Run 15	114.654		114.695		
0090	4019901	MISC.	6/15/20	6/16/20	1.00	LS		107.986		116.33		
0100	4019901	MISC.	6/15/20	6/16/20	1.00	LS		107.986		116.33		
0160	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	6/2/20	6/15/20	2.00	EA	US 169 NB and SB	107.986		116.33		
0240	6133018	FURN & PLACE BIT. MATL FOR CL B PARTIAL	6/2/20	6/15/20	63.30	TONS	US 169	110.733		112.271		Partial depth repairs
0260	6133020	FURN & PLACE BIT. MATL FOR CL C PARTIAL	6/2/20	6/15/20	42.80	TONS	US 169 South	113.000		116.00		Partial Depth repairs
0280	6139905	MISC. PAVEMENT REPAIR	6/2/20	6/15/20	97.80	SQYD	US 169 SB outside shoulder	110.014		113.851		Location 1: 110.014 Location 2: 110.249 Location 3: 113.851
0360	6161099	CMS WITH COMMUNICATION INTERFACE, CONT F	6/2/20	6/15/20	2.00	EA	152 EB and WB	7.168 WB		8.849 WB		Have been present the entire project length but not add to DRWs
0370	6181000	MOBILIZATION	6/15/20	6/16/20	0.75	LS		107.986		116.33		
0380	6200009	PREF THERMO PAVMT MARKING, 6 IN WHITE	6/8/20	6/15/20	2,010.00	LF	NB and SB Turn Bays	107.986		116.33		
0390	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	6/3/20	6/15/20	144.00	LF	124th, 132nd, Armory, and 144th St Crossovers	108.483		110.937		
			6/8/20	6/15/20	86.00	LF	US 169 at Barry Rd	107.986		116.33		
0400	6200021	PREF THERMO PVMT MARK, LT/RT ARROW	6/3/20	6/15/20	3.00	EA	turn bays	108.483		110.014		
			6/8/20	6/15/20	19.00	EA	US 169 NB and SB Turn Bays	107.986		116.33		
0420	6200036	PREF THERMO PVMT MARK, 30" WHT MIDBL	6/8/20	6/15/20	8.00	EA	Outer Road	107.986		116.33		
0430	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAINT	6/10/20	6/15/20	7,325.00	LF	Outer Roads, Commercial, Armory	107.986		116.33		
0440	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	6/2/20	6/15/20	11,760.00	LF	US 169 NB and SB	107.986		116.33		dashed white line
			6/4/20	6/15/20	27,960.00	LF	NB white edge and SB white dash	107.986		116.33		
			6/8/20	6/15/20	41,043.00	LF	US 169 NB and SB Lanes	107.986		116.33		
			6/9/20	6/15/20	20,125.00	LF	US 169 NB and SB Ramps	107.986		116.33		
			6/10/20	6/15/20	24,105.00	LF	US 169 NB and SB Ramps	107.986		116.33		
			6/11/20	6/15/20	2,870.00	LF	CD lane on 169 NB	15.066		15.617		
0450	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAINT	6/4/20	6/15/20	29,478.00	LF	NB 169 yellow edge	11.209		18.922		
			6/8/20	6/15/20	49,750.00	LF	US 169 NB and SB Lanes	107.986		116.33		
			6/9/20	6/15/20	5,215.00	LF	US 169 NB and SB Ramps	107.986		116.33		
			6/10/20	6/15/20	16,940.00	LF	US 169 NB and SB Ramps	107.986		116.33		
0480	6207001	PAVEMENT MARKING REMOVAL	6/2/20	6/15/20	480.00	LF	US 19 NB	11.21		11.572		Wide dotted pavement marking
0520	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	6/2/20	6/15/20	579.80	STA	US 169 SB	107.986		116.33		
			6/3/20	6/15/20	476.90	STA	US 169 NB	11.209		19.922		
0580	6061060	MGS GUARDRAIL	6/8/20	6/15/20	300.00	LF	Run 14	114.555		114.622		
			6/9/20	6/15/20	287.50	LF	Run 57 152 Overpass	114.916		114.987		
0590	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	6/2/20	6/15/20	137.50	LF	Run 8	111.496		111.537		
			6/3/20	6/15/20	450.00	LF	Runs 9 and 10	111.885		111.952		
			6/4/20	6/15/20	312.50	LF	Run 12 and 13	112.498		112.774		
			6/8/20	6/15/20	162.50	LF	Run 15	114.654		114.695		
0610	6061068	MGS BRIDGE APP. TRANS SEC (EXT CURB)	6/2/20	6/15/20	1.00	EA	Run 8	111.496		111.537		
			0.0120	6/15/20 6/15/20	2.00	EA EA	Runs 9 and 10 Run 57	111.885 114.916		111.952 114.987		
0620	6061080	MGS END ANCHOR	6/4/20	6/15/20	2.00	EA	152 Overpass Runs 12 and 13	112.498		112.774		
			6/8/20	6/15/20	2.00	EA	Runs 14 and 15	114.555		114.695		
0630	6063014	TYPE A CRSHWTHY END TERMINAL (MASH)	6/2/20	6/15/20	1.00	EA	Run 8	111.496		111.537		
			6/3/20	6/15/20	2.00	EA	Runs 9 and 10	111.885		111.952		
			6/4/20	6/15/20	2.00	EA	Runs 12 and 13	112.498		112.774		
			6/8/20	6/15/20	2.00	EA	Runs 14 and 15	114.555		114.695		
			6/9/20	6/15/20	1.00	EA	Run 57 152 Overpass	114.916		114.987		
5001	6200018	PREF THERMO PVMT MARK, 24 IN YELLOW	6/2/20	6/15/20	360.00	LF	US 169 SB Gore just south of Smithville	107.986		108.483		
5003	6207001	PAVEMENT MARKING REMOVAL		6/15/20	1,558.00	LF	US 169 NB Concrete sections not overlayed	11.209		18.922		Original contract amount based on projected total from submitted CO
5004	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	6/2/20	6/15/20	8.00	EA	US 169 NB Concrete sections not overlayed	11.209		18.922		Original contract amount based on projected total from submitted CO

The information below this line are details from Line Item agency views. No Agency View Details Exist



		A 11	C 11	-	0	0		
Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
070	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Material		5	Jun 3, 2020	SYSTEM	(\$77,928.78)	
				5	Jun 3, 2020	SYSTEM	\$77,928.78	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0041) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$77,928.78)	
				6	Jun 16, 2020	SYSTEM	\$77,928.78	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
- 1	Material - Total						\$0.00	
	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Overrun	Overrun	5	Jun 3, 2020	SYSTEM	\$38,008.86	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0040) overridding Payment Estimate Exception 39 on the current Payment Estimate.
				5	Jun 3, 2020	SYSTEM	(\$38,008.86)	
				5	Jun 3, 2020	woodwj1	(\$38,008.86)	Will be addressed on a future Change Order.
				6	Jun 16, 2020	SYSTEM	(\$38,008.86)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				6	Jun 16, 2020	SYSTEM	\$38,008.86	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) overridding Payment Estimate Exception 45 on the current Payment Estimate.
			Overrun - T	otal			(\$38,008.86)	
	Overrun - Total						(\$38,008.86)	
070 -	Total						(\$38,008.86)	
080	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	Price		5	Jun 2, 2020	SYSTEM	(\$22,716.45)	Reference Item Price Adjustment Index Adjustment Type applie is FUEL
			- Total				(\$22,716.45)	
	Price - Total						(\$22,716.45)	
	Total			1			(\$22,716.45)	
110	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Material		4	May 19, 2020	SYSTEM	(\$509,771.57)	
				4	May 19, 2020	SYSTEM	\$509,771.57	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				5	Jun 3, 2020	SYSTEM	(\$1,085,500.44)	
				5	Jun 3, 2020	SYSTEM	\$1,085,500.44	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0055) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$1,085,500.44)	
				6	Jun 16, 2020	SYSTEM	\$1,085,500.44	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	Price		4	May 19, 2020	SYSTEM	(\$30,721.79)	Reference Item Price Adjustment Index Adjustment Type applies is FUEL
				5	Jun 2, 2020	SYSTEM	(\$34,696.76)	Reference Item Price Adjustment Index Adjustment Type applie is FUEL
			- Total				(\$65,418.55)	
	Price - Total						(\$65,418.55)	
0110 -	Total						(\$65,418.55)	
0120	TACK COAT	Material		5	Jun 3, 2020	SYSTEM	(\$20,510.00)	
				5	Jun 3,	SYSTEM	\$20,510.00	This adjustment offsets the original system-generated Overrun



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0120	TACK COAT	Material						overridding Payment Estimate Exception 3 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$20,510.00)	
				6	Jun 16, 2020	SYSTEM	\$20,510.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0120 -	Total						\$0.00	
0140	PAVED APPROACH, 8 IN.	Material		3	May 4, 2020	SYSTEM	(\$10,047.00)	
				3	May 4, 2020	SYSTEM	\$10,047.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				4	May 19, 2020	SYSTEM	(\$10,047.00)	
				4	May 19, 2020	SYSTEM	\$10,047.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				5	Jun 3, 2020	SYSTEM	(\$10,047.00)	
				5	Jun 3, 2020	SYSTEM	\$10,047.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0057) due to user woodwj1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$10,047.00)	
				6	Jun 16, 2020	SYSTEM	\$10,047.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user woodwj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0140 -	Total						\$0.00	
0150	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	Material		3	May 4, 2020	SYSTEM	(\$1,668.00)	
				3	May 4, 2020	SYSTEM	\$1,668.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user woodwj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				4	May 19, 2020	SYSTEM	(\$1,668.00)	
				4	May 19, 2020	SYSTEM	\$1,668.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				5	Jun 3, 2020	SYSTEM	(\$1,668.00)	
				5	Jun 3, 2020	SYSTEM	\$1,668.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0058) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$1,668.00)	
				6	Jun 16, 2020	SYSTEM	\$1,668.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0150 -	Total						\$0.00	
0160	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material		6	Jun 16, 2020	SYSTEM	(\$2,000.00)	



ine.	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks																		
160	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	Material		6	Jun 16, 2020	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user woodwj1 overridding Payment Estimate Exception 16 on the current Payment Estimate.																		
			- Total				\$0.00																			
	Material - Total						\$0.00																			
60	Total						\$0.00																			
70	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material		2	Apr 16, 2020	SYSTEM	(\$241,531.38)																			
	DEPTH PAVEMENT REPAIR			2	Apr 16, 2020	SYSTEM	\$241,531.38	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user woodwj overridding Payment Estimate Exception 1 on the current Payment Estimate.																		
				3	May 4, 2020	SYSTEM	(\$241,531.38)																			
				3	May 4, 2020	SYSTEM	\$241,531.38	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user woodwj overridding Payment Estimate Exception 10 on the current Payment Estimate.																		
				4	May 19, 2020	SYSTEM	(\$241,531.38)																			
				4	May 19, 2020	SYSTEM	\$241,531.38	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user woodwj overridding Payment Estimate Exception 11 on the current Payment Estimate.																		
				5	Jun 3, 2020	SYSTEM	(\$241,531.38)																			
								5	Jun 3, 2020	SYSTEM	\$241,531.38	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0044) due to user woodwi overridding Payment Estimate Exception 18 on the current Payment Estimate.														
					2020		(\$211,001.00)																			
				6		SYSTEM	\$241,531.38	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user woodwj overridding Payment Estimate Exception 17 on the current Payment Estimate.																		
			- Total		2020 Jun 16,			Payment Estimate Item Adjustment (0011) due to user woodwj overridding Payment Estimate Exception 17 on the current																		
	Material - Total		- Total		2020 Jun 16,		\$241,531.38	Payment Estimate Item Adjustment (0011) due to user woodw overridding Payment Estimate Exception 17 on the current																		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	Overrun	- Total Overrun		2020 Jun 16,		\$241,531.38 \$0.00	Payment Estimate Item Adjustment (0011) due to user woodw overridding Payment Estimate Exception 17 on the current																		
	FURNISHING AND PLACING	Overrun		6	2020 Jun 16, 2020 Apr 16,	SYSTEM	\$241,531.38 \$0.00 \$0.00	Payment Estimate Item Adjustment (0011) due to user woodw overridding Payment Estimate Exception 17 on the current Payment Estimate.																		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	Overrun		6	2020 Jun 16, 2020 Apr 16, 2020 Apr 16,	SYSTEM SYSTEM	\$241,531.38 \$0.00 \$0.00 (\$8,701.08)	Payment Estimate Item Adjustment (0011) due to user woodw overridding Payment Estimate Exception 17 on the current Payment Estimate.																		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	Overrun		6 2 2 2 3	2020 Jun 16, 2020 Apr 16, 2020 Apr 16, 2020 Apr 17, 2020 May 4, 2020	SYSTEM SYSTEM SYSTEM hazlet1 SYSTEM	\$241,531.38 \$0.00 \$0.00 (\$8,701.08) \$8,701.08 (\$8,701.08) (\$8,701.08)	Payment Estimate Item Adjustment (0011) due to user woodw overridding Payment Estimate Exception 17 on the current Payment Estimate.																		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	Overrun		6 2 2 2 2	2020 Jun 16, 2020 Apr 16, 2020 Apr 16, 2020 Apr 17, 2020 May 4,	SYSTEM SYSTEM SYSTEM hazlet1	\$241,531.38 \$0.00 \$0.00 (\$8,701.08) \$8,701.08 (\$8,701.08)	Payment Estimate Item Adjustment (0011) due to user woodw, overridding Payment Estimate Exception 17 on the current Payment Estimate.																		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	Overrun		6 2 2 2 3	2020 Jun 16, 2020 Apr 16, 2020 Apr 16, 2020 Apr 17, 2020 May 4, 2020 May 4, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$241,531.38 \$0.00 \$0.00 (\$8,701.08) \$8,701.08) (\$8,701.08) (\$8,701.08) \$8,701.08	Payment Estimate Item Adjustment (0011) due to user woodw overridding Payment Estimate Exception 17 on the current Payment Estimate.																		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	Overrun		6 2 2 3 3 3	2020 Jun 16, 2020 Apr 16, 2020 Apr 16, 2020 Apr 17, 2020 May 4, 2020 May 4, 2020	SYSTEM SYSTEM SYSTEM hazlet1 SYSTEM SYSTEM	\$241,531.38 \$0.00 \$0.00 (\$8,701.08) \$8,701.08 (\$8,701.08) (\$8,701.08) (\$8,701.08) \$8,701.08	Payment Estimate Item Adjustment (0011) due to user woodwj overridding Payment Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 18 on the current Payment Estimate. This is to adjust for the system generated overrun and will be added when the CO goes through. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 31 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun																		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	Overrun		6 2 2 2 3 3 3 4	2020 Jun 16, 2020 Apr 16, 2020 Apr 16, 2020 May 4, 2020 May 4, 2020 May 4, 2020 May 19, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$241,531.38 \$0.00 \$0.00 (\$8,701.08) \$8,701.08) (\$8,701.08) (\$8,701.08) \$8,701.08	Payment Estimate Item Adjustment (0011) due to user woodw overridding Payment Estimate Exception 17 on the current Payment Estimate.																		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	Overrun		6 2 2 2 3 3 3 4 4 4	2020 Jun 16, 2020 Apr 16, 2020 Apr 16, 2020 Apr 17, 2020 May 4, 2020 May 4, 2020 May 19, 2020 Jun 3,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$241,531.38 \$0.00 \$0.00 (\$8,701.08) \$8,701.08 (\$8,701.08) \$8,701.08 \$8,701.08 \$8,701.08	Payment Estimate Item Adjustment (0011) due to user woodw overridding Payment Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Overrur Payment Estimate Item Adjustment (0001) overridding Payme Estimate Exception 18 on the current Payment Estimate. This is to adjust for the system generated overrun and will be added when the CO goes through. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrur Payment Estimate Item Adjustment (0001) overridding Payme Estimate Exception 31 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrur Payment Estimate Item Adjustment (0007) overridding Payme Estimate Exception 32 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrur Payment Estimate Item Adjustment (0007) overridding Payme Estimate Exception 32 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).																		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	Overrun		6 2 2 2 3 3 3 4 4 4 5	2020 Jun 16, 2020 Apr 16, 2020 Apr 16, 2020 Apr 17, 2020 May 4, 2020 May 4, 2020 May 19, 2020 May 19, 2020 Jun 3, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$241,531.38 \$0.00 \$0.00 (\$8,701.08) \$8,701.08 (\$8,701.08) (\$8,701.08) \$8,701.08 (\$8,701.08) \$8,701.08	Payment Estimate Item Adjustment (0011) due to user woodwy overridding Payment Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 18 on the current Payment Estimate. This is to adjust for the system generated overrun and will be added when the CO goes through. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 31 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) overridding Payment Estimate Exception 32 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) overridding Payment Estimate Exception 32 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).																		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	Overrun	Overrun	6 2 2 2 3 3 3 4 4 4 5 5 5 6 6	2020 Jun 16, 2020 Apr 16, 2020 Apr 17, 2020 May 4, 2020 May 4, 2020 May 4, 2020 May 19, 2020 Jun 3, 2020 Jun 3, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$241,531.38 \$0.00 \$0.00 (\$8,701.08) \$8,701.08 (\$8,701.08) (\$8,701.08) \$8,701.08 (\$8,701.08) \$8,701.08 (\$8,701.08) \$8,701.08	Payment Estimate Item Adjustment (0011) due to user woodwy overridding Payment Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 18 on the current Payment Estimate. This is to adjust for the system generated overrun and will be added when the CO goes through. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 31 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 32 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) overridding Payment Estimate Exception 32 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0043) overridding Payment Estimate Exception 40 on the current Payment Estimate.																		
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL	Overrun		6 2 2 2 3 3 3 4 4 4 5 5 5 6 6	2020 Jun 16, 2020 Apr 16, 2020 Apr 17, 2020 May 4, 2020 May 4, 2020 May 19, 2020 Jun 3, 2020 Jun 3, 2020 Jun 3, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$241,531.38 \$0.00 \$0.00 (\$8,701.08) (\$8,701.08) (\$8,701.08) (\$8,701.08) (\$8,701.08) \$8,701.08 (\$8,701.08) \$8,701.08 (\$8,701.08) \$8,701.08	Payment Estimate Item Adjustment (0011) due to user woodw overridding Payment Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Overrur Payment Estimate Item Adjustment (0001) overridding Payme Estimate Exception 18 on the current Payment Estimate. This is to adjust for the system generated overrun and will be added when the CO goes through. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrur Payment Estimate Item Adjustment (0001) overridding Payme Estimate Exception 31 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrur Payment Estimate Item Adjustment (0001) overridding Payme Estimate Exception 32 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrur Payment Estimate Item Adjustment (0007) overridding Payme Estimate Exception 32 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrur Payment Estimate Item Adjustment (0043) overridding Payme Estimate Exception 40 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrur Payment Estimate Item Adjustment (0043) overridding Payme																		



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0170	Total						(\$8,701.08)	
0210	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH	Material		2	Apr 16, 2020	SYSTEM	(\$4,245.55)	
	PAVEMENT REPAIR			2	Apr 16, 2020	SYSTEM	\$4,245.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user woodwj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				3	May 4, 2020	SYSTEM	(\$4,245.55)	
				3	May 4, 2020	SYSTEM	\$4,245.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate.
				4	May 19, 2020	SYSTEM	(\$4,245.55)	
				4	May 19, 2020	SYSTEM	\$4,245.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user woodwj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				5	Jun 3, 2020	SYSTEM	(\$4,245.55)	
				5	Jun 3, 2020	SYSTEM	\$4,245.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0059) due to user woodwj1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$4,245.55)	
				6	Jun 16, 2020	SYSTEM	\$4,245.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user woodwj1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total		- Total				\$0.00 \$0.00	
0210 ·	Material - Total Total		- Total					
	Total DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR	Material	- Total	2	Apr 16, 2020	SYSTEM	\$0.00	
	Total DOWEL BAR (FURNISHING AND	Material	- Total	2		SYSTEM	\$0.00 \$0.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
	Total DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR	Material	- Total		2020 Apr 16,		\$0.00 \$0.00 (\$3,207.75)	Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 6 on the current
	Total DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR	Material	- Total	2	2020 Apr 16, 2020 May 4,	SYSTEM	\$0.00 \$0.00 (\$3,207.75) \$3,207.75	Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 6 on the current
	Total DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR	Material	- Total	2 3	2020 Apr 16, 2020 May 4, 2020 May 4,	SYSTEM	\$0.00 \$0.00 (\$3,207.75) \$3,207.75 (\$3,207.75)	Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 15 on the current
	Total DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR	Material	- Total	2 3 3	2020 Apr 16, 2020 May 4, 2020 May 4, 2020 May 19,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75	Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 15 on the current
	Total DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR	Material	- Total	2 3 3 4	2020 Apr 16, 2020 May 4, 2020 May 4, 2020 May 19, 2020 May 19,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75)	Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 16 on the current
	Total DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR	Material	- Total	2 3 3 4 4	2020 Apr 16, 2020 May 4, 2020 May 4, 2020 May 19, 2020 May 19, 2020 May 19, 2020 Jun 3,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75	Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 16 on the current
	Total DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR	Material	- Total	2 3 3 3 4 4 5	2020 Apr 16, 2020 May 4, 2020 May 4, 2020 May 19, 2020 May 19, 2020 Jun 3, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75)	Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
	Total DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR	Material	- Total	2 3 3 4 4 4 5 5	2020 Apr 16, 2020 May 4, 2020 May 4, 2020 May 19, 2020 May 19, 2020 May 19, 2020 Jun 3, 2020 Jun 3, 2020 Jun 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75	Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
	Total DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR	Material	- Total	2 3 3 4 4 5 5 5 6	2020 Apr 16, 2020 May 4, 2020 May 4, 2020 May 19, 2020 Jun 3, 2020 Jun 3, 2020 Jun 3, 2020 Jun 16, Jun 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75	Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 16 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate.
0210	Total DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR	Material		2 3 3 4 4 5 5 5 6	2020 Apr 16, 2020 May 4, 2020 May 4, 2020 May 19, 2020 Jun 3, 2020 Jun 3, 2020 Jun 3, 2020 Jun 16, Jun 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75	Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 16 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate.
	Total DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR			2 3 3 4 4 5 5 5 6 6 6	2020 Apr 16, 2020 May 4, 2020 May 4, 2020 May 19, 2020 Jun 3, 2020 Jun 3, 2020 Jun 3, 2020 Jun 16, Jun 16,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 (\$3,207.75) \$3,207.75 \$3,207.75 \$3,207.75	Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 16 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate.



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks	
		Туре	Adjustment Type	Number	Date	Ву			
0220	DOWEL BAR (FURNISHING AND INSTALLATION WITH BASKETS) FOR FULL DEPTH PAVEMENT REPAIR	Overrun	Overrun		2020			Payment Estimate Item Adjustment (0003) overridding Payment Estimate Exception 19 on the current Payment Estimate.	
				2	Apr 17, 2020	hazlet1	(\$380.25)	This is to adjust for the system generated overrun and will be added when the CO goes through.	
				3	May 4, 2020	SYSTEM	(\$380.25)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	
				3	May 4, 2020	SYSTEM	\$380.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) overridding Payment Estimate Exception 32 on the current Payment Estimate.	
				4	May 19, 2020	SYSTEM	(\$380.25)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	
							4	May 19, 2020	SYSTEM
				5	Jun 3, 2020	SYSTEM	(\$380.25)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	
				5	Jun 3, 2020	SYSTEM	\$380.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0046) overridding Payment Estimate Exception 41 on the current Payment Estimate.	
				6	Jun 16, 2020	SYSTEM	(\$380.25)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	
				6	Jun 16, 2020	SYSTEM	\$380.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) overridding Payment Estimate Exception 47 on the current Payment Estimate.	
		-	Overrun - T	otal			(\$380.25)		
	Overrun - Total						(\$380.25)		
				0	4 40	OVOTEN	(\$380.25)		
0230	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	Material		2	Apr 16, 2020	SYSTEM	(\$1,485.00)		
	FAVEWENT REFAIR (TTFE L JOINTS)			2	Apr 16, 2020	SYSTEM	\$1,485.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user woodwj1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	
				3	May 4, 2020	SYSTEM	(\$1,485.00)		
				3	May 4, 2020	SYSTEM	\$1,485.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Payment Estimate Exception 18 on the current Payment Estimate.	
				4	May 19, 2020	SYSTEM	(\$1,485.00)		
				4	May 19, 2020	SYSTEM	\$1,485.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment Estimate Exception 19 on the current Payment Estimate.	
				5	Jun 3, 2020	SYSTEM	(\$1,485.00)		
				5	Jun 3, 2020	SYSTEM	\$1,485.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0050) due to user woodwj1 overridding Payment Estimate Exception 27 on the current Payment Estimate.	
				6	Jun 16, 2020	SYSTEM	(\$1,485.00)		
				6	Jun 16, 2020	SYSTEM	\$1,485.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 25 on the current Payment Estimate.	
			- Total				\$0.00		
	Material - Total						\$0.00		
	TIE BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)	Overrun	Overrun	2	Apr 16, 2020	SYSTEM	(\$795.00)		
				2	Apr 16, 2020	SYSTEM	\$513.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment Estimate Exception 20 on the current Payment Estimate.	
				2	Apr 16, 2020	SYSTEM	\$281.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) overridding Payment Estimate Exception 20 on the current Payment Estimate.	
				2	Apr 17,	hazlet1	(\$795.00)	This is to adjust for the system generated overrun and will be	



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks													
0230	TIE BAR (DRILLING, FURNISHING AND	Overrun	Overrun		2020			added when the CO goes through.													
	INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR (TYPE L JOINTS)			3	May 4, 2020	SYSTEM	(\$795.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).													
				3	May 4, 2020	SYSTEM	\$795.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment Estimate Exception 33 on the current Payment Estimate.													
				4	May 19, 2020	SYSTEM	(\$795.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).													
				4	May 19, 2020	SYSTEM	\$795.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) overridding Payment Estimate Exception 34 on the current Payment Estimate.													
				5	Jun 3, 2020	SYSTEM	(\$795.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).													
				5	Jun 3, 2020	SYSTEM	\$795.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0049) overridding Payment Estimate Exception 42 on the current Payment Estimate.													
				6	Jun 16, 2020	SYSTEM	(\$795.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).													
				6	Jun 16, 2020	SYSTEM	\$795.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) overridding Payment Estimate Exception 48 on the current Payment Estimate.													
			Overrun - T	otal			(\$795.00)														
	Overrun - Total						(\$795.00)														
0230 -	Total						(\$795.00)														
0250	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	Overrun	Overrun	1	Apr 2, 2020	SYSTEM	(\$13,990.82)														
			Overrun - T	otal			(\$13,990.82)														
	Overrun - Total						(\$13,990.82)														
0250 -							(\$13,990.82)														
0290	CONSTRUCTION SIGNS	Material		1	Apr 2, 2020	SYSTEM	(\$5,153.12)														
				1	Apr 2, 2020	SYSTEM	\$5,153.12	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user woodwj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.													
				2	Apr 16, 2020	SYSTEM	(\$5,153.12)														
				2	Apr 16, 2020	SYSTEM	\$5,153.12	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user woodwj1 overridding Payment Estimate Exception 12 on the current Payment Estimate.													
				3	May 4, 2020	SYSTEM	(\$5,153.12)														
				3	May 4, 2020	SYSTEM	\$5,153.12	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user woodwj1 overridding Payment Estimate Exception 21 on the current Payment Estimate.													
				4	May 19, 2020	SYSTEM	(\$5,153.12)														
				4	May 19, 2020	SYSTEM	\$5,153.12	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 22 on the current Payment Estimate.													
																	5	Jun 3, 2020	SYSTEM	(\$5,153.12)	
				6	Jun 16, 2020	SYSTEM	(\$5,153.12)														
				6	Jun 16, 2020	SYSTEM	\$5,153.12	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user woodwj1 overridding Payment Estimate Exception 28 on the current Payment Estimate.													
			- Total				\$0.00														



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks				
0290 -	Total						\$0.00					
0310	FLAG ASSEMBLY	Material		1	Apr 2, 2020	SYSTEM	(\$280.00)					
				1	Apr 2, 2020	SYSTEM	\$280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user woodwj1 overridding Payment Estimate Exception 2 on the current Payment Estimate.				
				2	Apr 16, 2020	SYSTEM	(\$280.00)					
				2	Apr 16, 2020	SYSTEM	\$280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user woodwj1 overridding Payment Estimate Exception 13 on the current Payment Estimate.				
				3	May 4, 2020	SYSTEM	(\$280.00)					
				3	May 4, 2020	SYSTEM	\$280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 22 on the current Payment Estimate.				
				4	May 19, 2020	SYSTEM	(\$280.00)					
				4	May 19, 2020	SYSTEM	\$280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user woodwj1 overridding Payment Estimate Exception 23 on the current Payment Estimate.				
				5	Jun 3, 2020	SYSTEM	(\$280.00)					
				5	Jun 3, 2020	SYSTEM	\$280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0061) due to user woodwj1 overridding Payment Estimate Exception 30 on the current Payment Estimate.				
				6	Jun 16, 2020	SYSTEM	(\$280.00)					
				6	Jun 16, 2020	SYSTEM	\$280.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user woodwj1 overridding Payment Estimate Exception 29 on the current Payment Estimate.				
			- Total				\$0.00					
	Material - Total						\$0.00					
0310 -	Total						\$0.00					
0320	CHANNELIZER (TRIM LINE)	Material		1	Apr 2, 2020	SYSTEM	(\$5,600.00)					
				1	Apr 2, 2020	SYSTEM	\$5,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user woodwj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.				
				2	Apr 16, 2020	SYSTEM	(\$5,600.00)					
				2	Apr 16, 2020	SYSTEM	\$5,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user woodwj1 overridding Payment Estimate Exception 14 on the current Payment Estimate.				
				3	May 4, 2020	SYSTEM	(\$5,600.00)					
								3	May 4, 2020	SYSTEM	\$5,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user woodwj1 overridding Payment Estimate Exception 23 on the current Payment Estimate.
				4	May 19, 2020	SYSTEM	(\$5,600.00)					
				4	May 19, 2020	SYSTEM	\$5,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 24 on the current Payment Estimate.				
				5	Jun 3, 2020	SYSTEM	(\$5,600.00)					
				5	Jun 3, 2020	SYSTEM	\$5,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0062) due to user woodwj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.				



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0320	CHANNELIZER (TRIM LINE)	Material		6	Jun 16, 2020	SYSTEM	(\$5,600.00)	
				6	Jun 16, 2020	SYSTEM	\$5,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0019) due to user woodwj1 overridding Payment Estimate Exception 30 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0320 -							\$0.00	
0330	TYPE III MOVEABLE BARRICADE	Material		1	Apr 2, 2020	SYSTEM	(\$600.00)	This all the set of a to the activity of an transmission of the set
				1	Apr 2, 2020	SYSTEM	\$600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user woodwj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				2	Apr 16, 2020	SYSTEM	(\$600.00)	
				2	Apr 16, 2020	SYSTEM	\$600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user woodwj1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
				3	May 4, 2020	SYSTEM	(\$600.00)	
				3	May 4, 2020	SYSTEM	\$600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment Estimate Exception 24 on the current Payment Estimate.
				4	May 19, 2020	SYSTEM	(\$600.00)	
				4	May 19, 2020	SYSTEM	\$600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user woodwj1 overridding Payment Estimate Exception 25 on the current Payment Estimate.
				5	Jun 3, 2020	SYSTEM	(\$600.00)	
				5	Jun 3, 2020	SYSTEM	\$600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0063) due to user woodwj1 overridding Payment Estimate Exception 32 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$600.00)	
				6	Jun 16, 2020	SYSTEM	\$600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0020) due to user woodwj1 overridding Payment Estimate Exception 31 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	- Total						\$0.00	
0340	FLASHING ARROW PANEL	Material		1	Apr 2, 2020	SYSTEM	(\$2,000.00)	
				1	Apr 2, 2020	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user woodwj1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
				2	Apr 16, 2020	SYSTEM	(\$2,000.00)	
				2	Apr 16, 2020	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user woodwj1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
				3	May 4, 2020	SYSTEM	(\$2,000.00)	
				3	May 4, 2020	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 25 on the current Payment Estimate.
				4	May 19, 2020	SYSTEM	(\$2,000.00)	
				4	May 19,	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Overrun



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		Туре	Adjustment Type	Number	Date	Ву		
0340	FLASHING ARROW PANEL Material	Material			2020			Payment Estimate Item Adjustment (0018) due to user woodwj1 overridding Payment Estimate Exception 26 on the current Payment Estimate.
				5	Jun 3, 2020	SYSTEM	(\$2,000.00)	
				5	Jun 3, 2020	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0064) due to user woodwj1 overridding Payment Estimate Exception 33 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$2,000.00)	
				6	Jun 16, 2020	SYSTEM	\$2,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0021) due to user woodwj1 overridding Payment Estimate Exception 32 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0340 -	Total						\$0.00	
0360	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE,	Material		1	Apr 2, 2020	SYSTEM	(\$10,000.00)	
	CONTRACTOR FURNISHED, CONTRACTOR RETAINED			1	Apr 2, 2020	SYSTEM	\$10,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user woodwj1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				2	Apr 16, 2020	SYSTEM	(\$10,000.00)	
				2	Apr 16, 2020	SYSTEM	\$10,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user woodwj1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
				3	May 4, 2020	SYSTEM	(\$10,000.00)	
				3	May 4, 2020	SYSTEM	\$10,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user woodwj1 overridding Payment Estimate Exception 26 on the current Payment Estimate.
				4	May 19, 2020	SYSTEM	(\$10,000.00)	
				4	May 19, 2020	SYSTEM	\$10,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0019) due to user woodwj1 overridding Payment Estimate Exception 27 on the current Payment Estimate.
				5	Jun 3, 2020	SYSTEM	(\$10,000.00)	
				5	Jun 3, 2020	SYSTEM	\$10,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0065) due to user woodwj1 overridding Payment Estimate Exception 34 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$20,000.00)	
				6	Jun 16, 2020	SYSTEM	\$20,000.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user woodwj1 overridding Payment Estimate Exception 33 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0360 -	Total						\$0.00	
0380	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	Material		6	Jun 16, 2020	SYSTEM	(\$6,030.00)	
				6	Jun 16, 2020	SYSTEM	\$6,030.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) due to user woodwj1 overridding Payment Estimate Exception 34 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	Overrun	Overrun	6	Jun 16, 2020	SYSTEM	(\$924.00)	
				6	Jun 16,	SYSTEM	\$924.00	This adjustment offsets the original system-generated Overrun



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		Туре	Adjustment Type	Number	Date	Ву		
0380	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	Overrun	Overrun		2020			Payment Estimate Item Adjustment (0023) overridding Payment Estimate Exception 50 on the current Payment Estimate.
				6	Jun 16, 2020	woodwj1	(\$924.00)	Item overrun will be addressed in a later Change Order
			Overrun - T	otal			(\$924.00)	
	Overrun - Total						(\$924.00)	
0380 -	Total						(\$924.00)	
0390	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material		6	Jun 16, 2020	SYSTEM	(\$4,370.00)	
				6	Jun 16, 2020	SYSTEM	\$4,370.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user woodwj1 overridding Payment Estimate Exception 35 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0390 -	Total						\$0.00	
0400	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	Material		6	Jun 16, 2020	SYSTEM	(\$4,290.00)	
				6	Jun 16, 2020	SYSTEM	\$4,290.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0026) due to user woodwj1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0400 -	Total						\$0.00	
0420	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	Material		6	Jun 16, 2020	SYSTEM	(\$800.00)	
				6	Jun 16, 2020	SYSTEM	\$800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0027) due to user woodwj1 overridding Payment Estimate Exception 38 on the current Payment Estimate.
	- Total						\$0.00	
	Material - Total						\$0.00	
0420 -	Total						\$0.00	
0430	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS			3	May 4, 2020	SYSTEM	(\$1,839.18)	
				3	May 4, 2020	SYSTEM	\$1,839.18	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user woodwj1 overridding Payment Estimate Exception 27 on the current Payment Estimate.
				4	May 19, 2020	SYSTEM	(\$1,839.18)	
				4	May 19, 2020	SYSTEM	\$1,839.18	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0020) due to user woodwj1 overridding Payment Estimate Exception 28 on the current Payment Estimate.
				5	Jun 3, 2020	SYSTEM	(\$1,839.18)	
				5	Jun 3, 2020	SYSTEM	\$1,839.18	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0066) due to user woodwj1 overridding Payment Estimate Exception 35 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$2,864.68)	
				6	Jun 16, 2020	SYSTEM	\$2,864.68	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0029) due to user woodwj1 overridding Payment Estimate Exception 39 on the current Payment Estimate.
		- Total				\$0.00		
	Material - Total						\$0.00	
	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING	3	Overrun	6	Jun 16, 2020	SYSTEM	(\$897.68)	
	PAINT, TYPE L BEADS			6	Jun 16, 2020	SYSTEM	\$897.68	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) overridding Payment Estimate Exception 51 on the current Payment Estimate.



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0430	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Overrun	Overrun	6	Jun 16, 2020	woodwj1	(\$897.68)	Item overrun will be addressed in a later Change Order
		Overrun - T	otal			(\$897.68)		
	Overrun - Total						(\$897.68)	
0430	- Total						(\$897.68)	
0440	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	Material		3	May 4, 2020	SYSTEM	(\$3,146.78)	
				3	May 4, 2020	SYSTEM	\$3,146.78	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user woodwj1 overridding Payment Estimate Exception 29 on the current Payment Estimate.
				4	May 19, 2020	SYSTEM	(\$3,146.78)	
				4	May 19, 2020	SYSTEM	\$3,146.78	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0021) due to user woodwj1 overridding Payment Estimate Exception 30 on the current Payment Estimate.
				5	Jun 3, 2020	SYSTEM	(\$3,146.78)	
				5	Jun 3, 2020	SYSTEM	\$3,146.78	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0067) due to user woodwj1 overridding Payment Estimate Exception 37 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$27,440.75)	
				6	Jun 16, 2020	SYSTEM	\$27,440.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0030) due to user woodwj1 overridding Payment Estimate Exception 41 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0440	- Total						\$0.00	
0450	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING	Material		6	Jun 16, 2020	SYSTEM	(\$19,262.77)	
	PAINT, TYPE L BEADS			6	Jun 16, 2020	SYSTEM	\$19,262.77	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0031) due to user woodwj1 overridding Payment Estimate Exception 43 on the current Payment Estimate.
	- Total						\$0.00	
			- Total				ຈູບ.ບບ	
	Material - Total		- Total				\$0.00	
0450	Material - Total - Total		- Total					
0450 0480		Overrun	Overrun	6	Jun 16, 2020	SYSTEM	\$0.00	
	- Total	Overrun				SYSTEM	\$0.00 \$0.00	
	- Total	Overrun	Overrun			SYSTEM	\$0.00 \$0.00 (\$2.00)	
0480	- Total PAVEMENT MARKING REMOVAL	Overrun	Overrun			SYSTEM	\$0.00 \$0.00 (\$2.00) (\$2.00)	
0480	- Total PAVEMENT MARKING REMOVAL Overrun - Total		Overrun	otal		SYSTEM	\$0.00 \$0.00 (\$2.00) (\$2.00) (\$2.00)	
0480 0480	- Total PAVEMENT MARKING REMOVAL Overrun - Total - Total MODIFIED COLDMILLING (DEPTH		Overrun Overrun - T	otal	2020 May 19,		\$0.00 \$0.00 (\$2.00) (\$2.00) (\$2.00) (\$2.00)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user woodwj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.
0480 0480	- Total PAVEMENT MARKING REMOVAL Overrun - Total - Total MODIFIED COLDMILLING (DEPTH		Overrun Overrun - T	otal	2020 May 19, 2020 May 19,	SYSTEM	\$0.00 \$0.00 (\$2.00) (\$2.00) (\$2.00) (\$2.00) (\$353.00)	Payment Estimate Item Adjustment (0022) due to user woodwj1 overridding Payment Estimate Exception 36 on the current
0480	- Total PAVEMENT MARKING REMOVAL Overrun - Total - Total MODIFIED COLDMILLING (DEPTH		Overrun Overrun - T	otal 4 4	2020 May 19, 2020 May 19, 2020 May 19,	SYSTEM	\$0.00 \$0.00 (\$2.00) (\$2.00) (\$2.00) (\$2.00) (\$353.00) \$353.00	Payment Estimate Item Adjustment (0022) due to user woodwj1 overridding Payment Estimate Exception 36 on the current Payment Estimate.
0480	- Total PAVEMENT MARKING REMOVAL Overrun - Total - Total MODIFIED COLDMILLING (DEPTH		Overrun Overrun - T	4 4 4	2020 May 19, 2020 May 19, 2020 May 19, 2020 May 19, 2020 Jun 3,	SYSTEM SYSTEM woodwj1	\$0.00 \$0.00 (\$2.00) (\$2.00) (\$2.00) (\$2.00) (\$353.00) \$353.00	Payment Estimate Item Adjustment (0022) due to user woodwj1 overridding Payment Estimate Exception 36 on the current Payment Estimate. Overrun will be addressed on a later Change Order Averaged Price Adjustment from this item on all previous
0480	- Total PAVEMENT MARKING REMOVAL Overrun - Total - Total MODIFIED COLDMILLING (DEPTH		Overrun Overrun - T	4 4 4 5	2020 May 19, 2020 May 19, 2020 May 19, 2020 Jun 3, 2020 Jun 3,	SYSTEM SYSTEM woodwj1 SYSTEM	\$0.00 \$0.00 (\$2.00) (\$2.00) (\$2.00) (\$353.00) (\$353.00) (\$353.00) (\$353.00) (\$353.00) (\$353.00) (\$353.00)	Payment Estimate Item Adjustment (0022) due to user woodwj1 overridding Payment Estimate Exception 36 on the current Payment Estimate. Overrun will be addressed on a later Change Order Averaged Price Adjustment from this item on all previous
0480	- Total PAVEMENT MARKING REMOVAL Overrun - Total - Total MODIFIED COLDMILLING (DEPTH		Overrun Overrun - T	4 4 4 5 5 5 5	2020 May 19, 2020 May 19, 2020 May 19, 2020 Jun 3, 2020 Jun 3, 2020 Jun 3,	SYSTEM SYSTEM woodwj1 SYSTEM SYSTEM	\$0.00 \$0.00 (\$2.00) (\$2.00) (\$2.00) (\$353.00) (\$353.00) (\$353.00) (\$353.00) (\$353.00) (\$353.00)	Payment Estimate Item Adjustment (0022) due to user woodwj1 overridding Payment Estimate Exception 36 on the current Payment Estimate. Overrun will be addressed on a later Change Order Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This amount was held on a previous estimate overrun and is now
0480	- Total PAVEMENT MARKING REMOVAL Overrun - Total - Total MODIFIED COLDMILLING (DEPTH		Overrun - T Overrun - T	4 4 4 5 5 5 5	2020 May 19, 2020 May 19, 2020 May 19, 2020 Jun 3, 2020 Jun 3, 2020 Jun 3,	SYSTEM SYSTEM woodwj1 SYSTEM SYSTEM	\$0.00 \$0.00 (\$2.00) (\$2.00) (\$2.00) (\$353.00) (\$353.00) (\$353.00) (\$353.00) (\$353.00) (\$353.00) (\$353.00)	Payment Estimate Item Adjustment (0022) due to user woodwj1 overridding Payment Estimate Exception 36 on the current Payment Estimate. Overrun will be addressed on a later Change Order Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This amount was held on a previous estimate overrun and is now



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0580	MGS GUARDRAIL	Construction Stockpile		4	May 19, 2020	SYSTEM	\$61,328.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				5	Jun 2, 2020	SYSTEM	(\$2,799.29)	Payment Estimate Item Adjustment generated Stockpile Transaction
				6	Jun 16, 2020	SYSTEM	(\$5,980.29)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$52,548.42	
	Construction Stockpile - Total						\$52,548.42	
	MGS GUARDRAIL	Material		5	Jun 3, 2020	SYSTEM	(\$4,757.50)	
				5	Jun 3, 2020	SYSTEM	\$4,757.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0068) due to user woodwj1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				6	Jun 16, 2020	SYSTEM	(\$14,921.25)	
			- Total				(\$14,921.25)	
	Material - Total						(\$14,921.25)	
0580 -	Total						\$37,627.17	
0590	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Construction Stockpile		4	May 19, 2020	SYSTEM	\$78,398.25	Payment Estimate Item Adjustment generated Stockpile Transaction
				6	Jun 16, 2020	SYSTEM	(\$12,864.58)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$65,533.67	
	Construction Stockpile - Total			-			\$65,533.67	
	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	Material		6	Jun 16, 2020	SYSTEM	(\$22,312.50)	
	- Total						(\$22,312.50)	
	Material - Total						(\$22,312.50)	
0590 -							\$43,221.17	
0600	MGS GUARDRAIL, 6 FT. POSTS, 3 FT 1.5 IN. SPACING	Construction Stockpile		4	May 19, 2020	SYSTEM	\$8,078.38	Payment Estimate Item Adjustment generated Stockpile Transaction
		- Total				\$8,078.38		
0600 -	Construction Stockpile - Total						\$8,078.38 \$8,078.38	
0600 -	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	Construction Stockpile		4	May 19, 2020	SYSTEM	\$45,900.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				5	Jun 2, 2020	SYSTEM	(\$1,530.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				6	Jun 16, 2020	SYSTEM	(\$6,120.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$38,250.00	
	Construction Stockpile - Total						\$38,250.00	
	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED CURB)	Material		5	Jun 3, 2020	SYSTEM	(\$2,450.00)	
				5	Jun 3, 2020	SYSTEM	\$2,450.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0069) due to user woodwj1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
		- Total				\$0.00		
	Material - Total						\$0.00	
0610 -	Total						\$38,250.00	
0620	MGS END ANCHOR	Construction Stockpile		4	May 19, 2020	SYSTEM	\$17,892.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				6	Jun 16, 2020	SYSTEM	(\$1,988.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$15,904.00	
	Construction Stockpile - Total						\$15,904.00	
	MGS END ANCHOR	Material		6	Jun 16, 2020	SYSTEM	(\$3,200.00)	
			- Total				(\$3,200.00)	



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0620	Material - Total						(\$3,200.00)	
0620 -	Total						\$12,704.00	
0630	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		4	May 19, 2020	SYSTEM	\$75,850.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				5	Jun 2, 2020	SYSTEM	(\$1,517.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				6	Jun 16, 2020	SYSTEM	(\$12,136.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$62,197.00	
	Construction Stockpile - Total						\$62,197.00	
	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		5	Jun 3, 2020	SYSTEM	(\$2,400.00)	
				5	Jun 3, 2020	SYSTEM	\$2,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0070) due to user woodwj1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
		- Total				\$0.00		
	Material - Total						\$0.00	
0630 -	Total						\$62,197.00	
5001	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	Material		6	Jun 16, 2020	SYSTEM	(\$9,072.00)	
			- Total				(\$9,072.00)	
	Material - Total		- Iotal				(\$9,072.00) (\$9,072.00)	
5001 -			- Total					
5001 - 5003		Overrun	- Total Overrun	6	Jun 16, 2020	SYSTEM	(\$9,072.00)	
	Total	Overrun				SYSTEM	(\$9,072.00) (\$9,072.00)	
	Total	Overrun	Overrun			SYSTEM	(\$9,072.00) (\$9,072.00) (\$1,685.25)	
	Total PAVEMENT MARKING REMOVAL Overrun - Total	Overrun	Overrun			SYSTEM	(\$9,072.00) (\$9,072.00) (\$1,685.25) (\$1,685.25)	